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PEEOR: Wik 50mLx1 i, 4°CIRAE

R Witk 6mLx1 i, 4°CIRTE;

RN WAk 40mLx1 I, 4CIRTE
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1. BB RN Se R T B BB 0 N, B0 S 3 RIS AR B RS (104 - 3R
BRI (mL) 29 500~1000: 1 FILGET CGEC 500 J340F sRANALIIAN ImL $RE0GHE D, 1 i il e 0 B sl 4
ML (UK, ThE 20%8k 200W, 7 3s, [AIFF 10s, 30 ¥X); 8000g 4°C&.0» 10min, M FiE, ByK L
Rrill

2. WA HBALURE () « RERAB(mL) N 1: 5~10 MIEF CERIZ 0.1g 441, I ImL #2
B, #EATUKIBSIE . 8000g 4°C#50 10min, HX i, BIK AN,

3. IM3E CGRO FERL: BRI

MRE S
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37°CHRY RN 1h J&, 90°C/K¥E 15min (5%, ByiE/KAENK), WEE
8000g 25°C B0 10min, M -7, SHE1b
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WA= (uL) 650 650

VBE),  90°C/K 10min (F5, ByIR/KAER), WA, 620nm ALZEMEKIHE, MIEBROGHE A, 115 AA=A
T E-AXTRE . BN B — AR .

CL &/ E:

1. FRAEZEAE R IE R EA RN y = 5.018x - 0.0462; x NARHERIKE (mg/mL), y AWIEH .

2. MiE CH) CLIE T

FALIE S B mL f3E CR BB Tng A BT SO — NS 71540

CL 3% 71 (ng /min/mL)= [1000 X (AA+0.0462) +5.018xV [zt ]+V ££+T =39.8x(AA+0.0462)

3. YA, 4R AL CL & J i

(D W E AR

FALIE S B mg HAUER (VRN AL 2R Lng HTETHE 8 SO — BTG A

CL 3% 71(ug /min/mg prot)=[1000 X (AA+0.0462) +5.018xV [ I ]+(V FExCpr) +T
=39.8x(AA+0.0462) +Cpr

(2) FREASETE 5

BANTIRIE S B g VR BRI AE 1 g B ATRE S SO — AN B

CL ¥ J1(ug /min /g BEE)=[1000 X (AA+0.0462) +5.018xV M J+(Wx V £V FE#) =T
=39.8x(AA+0.0462) +W

(3) F2 24 B B4 M % 5 15

FALIE S B 1 AN B B IR A B A PR A 1 g HRTRE B SO — B A

CL 3% 77(ng /min /10% cell)=[1000 X (AA+0.0462) +5.018xV S E]+(500xV F+V FEE) =T
=0.0796x(AA+0.0462)

1000: 1mg/mL=1000ug/mL; V Jx&: KFBAAREAET, 1.2mL;  VFE: IIAFEAMAET, 0.1 mL; VEER:

DINREUHRAAF, 1 mLs T: KBIAFE], 60 min; Cpr: FEASEAMIKE, mg/mL; W: FEAE, g5 500:

Y1 P B4 S 5, 500 J5 .



